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270

360

IN—T& AR
Hex
PRZEOEBY | A-A |A-B [C-D | A-D [A-C {B-D | Bt
O<AL<I1| 12 | 13 | 12 { 30 | 18 | 13 | 99 #5|58.6 %
1<AL<2| 11 9 7 7 5 5 | 44 £1]26.0 %
2<AL<3| 4 3 1 3 1 2 | 44| 8.3%
3<AL<4| 5 2 0 1 1 0 95| 5.3%
AL>4 0 0 0 3 0 0 38| 1.8%
IN—~T% SR
l - b
MZEOEHE |A-A |A-B [C-D |A-D [ A-C [B-D | Bt
O<AC<1/| 22| 15 | 14| 21| 15 9 | 96 5566.8%
I<AC<K2| 6 4 4 | 13 4 7 | 38 gi|22.5%
2<AC<3]| 4 51 0 7 6 2 | 26 /5015.4%
3<AC<4| 0 31 0 3 1 1 8 B | 4.7%
AC>4 0 0 0 0 0 1 1 5| 0.6%
IN—-T%& I
H#
BEEDGE |A-A {A-B [C-D |A-D |A-C |B-D it
0<AH<1]| 15 6 ¢l n 6 | 1 43 55 25.4 %
1<AH<2| &6 6 1] 15 711 36 £ |21.3 %
2<AH<3 | 7 8 3 7 312 30 £ 17.8 %
3<AH<4| 4 2 7 3 213 21 12,4 %
4<AH<5| 0 3 2 3 115 14 51 8.3%
AH>5 0 2 3 5 718 25 2| 14.8 %
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B A 8 RS D SHoHT55F (B8R | PE
tt fH & H & FE | EE| =
(HA) | (HB) | (HAB) |#%k(aH) | #%R(BH | (CA) | (CB) | AC
Wiy 61101 76 0.62 0.38 [61.3]47.5(13.8
wit x B 68 10}5 72 0.89 0.11 [50.2]26.7/23.5
Wiy 61| 44 54 0.59 0.41 [61.3139.7]21.5
wz % %| 68| 56 | 65 | 0.75 | 0.25 |50.2|34.5]15.7
vy 61 18 45 0.63 0.37 |61.3]36.6}24.7
e # | 68| 39 | 61 0.76 0.24 |50.2(26.2]24.0
6
e X Y Z MBS | BREEROEEA
B WLAF | 113 | 0.471 |0.409 | 5.384|0.986
" BE|A& | 21 [0.467 |0.228 |11.778[0.943 | 0 -45 | 0 - 45
: 2l v 113 | 0.479 | 0.447 | -0.148 | 0.982
BE|A& B 21 |[0.563 {0.231 | 1.304{0.983
B | WLAF | 131 | 0.469 | 0.417 | 4.664 | 0.981
" B4 3| 10 [0.483 [0.187 [13.649]0.935 | 0 - 45 |45 - 90
? WLy | 131 | 0.464 | 0.396 | -0.178|0.976 |45 - 90 | 0 - 45
B4 3| 10 |0.563 |0.183 | 2.4230.993
B | WwWL4F| 81 |0.457 |0.466 | 2.708|0.988
" B4 3| 13 |0.580 [0.208 | 7.679]0.919 |45 - 90 | 90 -135
° % WwLiF| 81 |0.433 |0.489 |-1.551]0.956 |90 - 135 |45 - 90
A #| 13 [0.591 |0.144 | 1.371}0.971
B | WL | 44 [0.506 |0.432 | 3.228]0.988
" BE| A& $| 10 |0.536 |0.227 | 7.434|0.923 |45 - 90 | 135 -180
: W LIF | 44 [ 0.404 |0.348 | -1.518]0.939 | 135 -180 | 45 - 90
B4 | 10 |0.644 |0.092 |-2.385]0.988
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